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4,6-Dinitro-2-methylphenol
Response Ratio

Concentration Ratio

R = 3.714e-003 A*A + 2.620e-002 A - 4.960e-003
Coef of Det (r^2) = 0.999791   Curve Fit: Quadratic
Method Name:  Z:\SVOASRV\HPCHEM1\BNA_N\METHODS\8270-SIM-BN073021.M
Calibration Table Last Updated: Sat Jul 31 04:53:33 2021
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Bis(2-ethylhexyl)phthalate
Response Ratio

Concentration Ratio

      Response = 8.731e-001 * Amt - 3.747e-001
Coef of Det (r^2) = 0.998925   Curve Fit: Linear
Method Name:  Z:\SVOASRV\HPCHEM1\BNA_N\METHODS\8270-SIM-BN073021.M
Calibration Table Last Updated: Sat Jul 31 04:53:33 2021
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